IloBTOpEeHHe. PellleHHE
YPaABHEHHH.




Pelure yCTHO:!

1). 2x-9=0
2). 2x+10=8

3).x —0,49=0
4). x(x-1)(x+1,2)=0

5)-()c—6)2 =0

6). x2—|—4=O



PewwuTte uenoe ypaBHeHue

Y =Sy —4x+20=0



Permnure ApoOHO-pantuoHaAIbHOE
YpaBHEHHE:

2X2+9x+4
> =1
x —16




Permnure ApoOHO-pantuoHaAIbHOE
YpaBHEHHE:

. s
(x—1) x-1

—-10=0



Pewwinte opobHO — pauunoHarbHble

ypaBHEHUS
>
(y=3)(+7)
2 0

(+3)(r-23)
3) (r=6.2)(y+15) _,
(y_692)
x> +6x+8 “
xX+2 -

4) 0



CamocTtosTtenbHas pabot

1 BapUaHT 2 BapUaHT
Dx*=4;2)x*-9=0; x> =9;2)x* -25=0;
3)—x"+5=0; 3)—x"+3=0;
$0,5x* =0; 5)x* +4=0; 4)-0,2x> =0; 5)x* +9=0;
O6)(x—2)(x+3)=0; 6)x+5)x-3)=0;

Nx* +3x=0; Nx* +5x =0;

8)x° —5x+6=0; 8)x° —8x+7=0;

N(x* +4) (x> -5)=0; 9) (x> +9)x* —=3)=0;
10)x’ —5x” +6x =0; 10)x” —8x° +7x =0;

11)(x* —5)(x* —4x+3)=0; 11)(x* =3)(x* =3x+2)=0;

12)x*(x* = 5x+6) =9(x*> = 5x+6)12)x° (x> —8x+7) =25(x" —8x+7):



X+3 xX+5

13) = 0; 13 = 0;
(x=2)(x+3) ey
—C2) 14 FFIE=3)
x—2 X 9

x° +3x x° +5x
15 =0; 15 = {5
)x2—9 )x2—25
. 6 248
16)x Sx + _0: 16)x2 8x+7:O;
x°—4x+3 x° —3x i

(x> =5)(x° —4x+3)

(x++/5)(x—1))

(x* =3)(x" =3x+2)

(x—~/3)(x-2))

17) =0

=0 17)







